About Us

BITEBI is one of the leading cylinders manufactures and suppliers in China. Welcome
to buy our low price and high-quality products from cylinders, pneumatic cylinders
OEM service and ODM from your factory or company, and also welcome to check price
with us.

Our production capacity, comprehensive services as well as abundant experience

enable us to be your best choice. We look forward to your reply and to establish
mutually beneficial trading relations between us.

Working Process

(1) Mold Design and Manufacturing
Able to design and produce Die Casting Mold.
Software: Pro

(2) Die Casting
Fully equipped with high pressure cold chamber die casting machines
All the die casting machines are with automatic feed, spraying, fetch robot arms.

(3) CNC Machining
We tailor our machining approach for either low-volume or higher-volume production

runs. Secondary machining such as tapping, milling, boring, surfacing, drilling, and
threading are performed to your specifications.

(4) Assembling End Product

Able to assemble various cylinders.
Able to assembly big bore cylinder up to 320mm.
Own testing equipment for cylinders.

T L L AL R AR 2 |
Wuxi Bitebi Machinery Technology Co.,Ltd.
it IHEEETELURENRETIUVES LE12S
Add: No.12 Jinshan Road, Wuxi, Jiangsu
FiETel: +86-510-83692008
f£ EFax:+86-510-83692009
FHM.P: 13361160018
R fiEHttp://www.btbjx.com
E-mail: btb @btbjx.com
mark @btbjx.com

|
L-—-—-- Piston Rod

BB RERFRAE

WUXI BITEBI MACHINERY TECHNOLOGY CO.,LTD.



BITEBI"

/\’

IINTENTSEES
- N —1 >N

Treat others with sinceri \-J o/ — - —T

The company decided to Yu Chengxin
WRESEB-DNCZH I ;
Standard Cylinder B-DNC Series
RESEIB-DNGZRF 5
Standard Cylinder B-DNG Series
% &S EIB-ADNR I »
Compact Cylinder B-AND Series
RESEB-MBZR! o4
Standard Cylinder B-MB Series
WRESEB-SIR S 30
Standard Cylinder B-SI| Series
WRESEB-SCHRJI a4

Standard Cylinder B-SC Series




BITEBI"

br i’ EIB—-DNCZ %

STANDARD CYLINDER B-DNC SERIES

fF&1S0 155524r 4
ISO 15552 STANDARD

F A

G H | | B
. © | ©
LA e ' i
™ @II ||\@

B-DNC ¢ 32— ¢ 125 2/Head

FF&1S0 15552%r#
1SO 15552 STANDARD

#M1&/SpcrfRS/Code A B E F H
$ 32 45.5 32.5 30 51 18 25
$ 40 51.5 38 35 59 21.5 29.5
$50 64.5 46.5 40 67.5 28 29.5
$63 75.5 56.5 45 70.5 28.5 35.5
¢80 93.5 72 45 83.2 34.7 36
4100 111.5 89 55 87.2 38.2 38.8
$125 134 110 60 106 46 45
n EE.’H‘ lf!ﬁﬁ’;/l{lt Ordering Code
DNC - |50/ - |H|-|S|- N|
‘ WERS/ FERR/
©32-0126 GasketMaterlal L Lo Blank:G thread
=8 TPU magnet N:NPTZF
: Z';"R" SIHRE N:NPT thread
s:With magnet P:PTH#
n B ﬁ/Specification P:PT thread
A {&/Bore (mm) 32 ‘ 40 ‘ 50 l 63 | 80 | 100 [ 125
i &5 iR S8 Fl/Available temperature C -10~250
£% 11T #2/Cushioning travel (mm) 20 ‘ 25 | 30 l 32
& O12/Port size G1/8" ‘ G1/4" | G3/8" | G1/2"

1 <<<<<<<< www.btbjx.com for More Products

BITEBI"

br " ELB—-DNC 2 4]

STANDARD CYLINDER B-DNC SERIES

u ﬁi&ﬂ!/Standard type

n MR/ Double shaft type

www.btbjx.com for More Products >>>>>>>>2



BITEBI" I

Fr i HLB-DNCZ %

STANDARD CYLINDER B-DNC SERIES

br " ELB—-DNC 2 4]

STANDARD CYLINDER B-DNC SERIES

fF&1S0 155524r 4
ISO 15552 STANDARD

FF&1S0 15552%r#
1SO 15552 STANDARD

E |j;] lﬁ?'ﬁlﬁj‘i%%’ﬂ-ﬂ ﬁ)‘i'/lnner structure and material list for main parts &
o F B L AR /Basic specification

32~ 125 A+4778 (Travel)
I 2 3 4 5 6 71 8 9 10 11 12 13 4 11 10 15 8 T & 5 I8 B CHTH (Travel)
NNV, I R
u | N
LSRR 1L I7 N N
H 2-0 [
—
18
q < AN vz 77 =
1| RN U S S S NS 5 - ol Va | S an
| C 00 s = . 0 |
K W
7 (5ide)
_— QL_ \z—mgm: cushioning acml_| e,
ALA‘:,Q ""'f/Basic specification
ﬁ% ‘gﬁ Hjﬁ ﬁ% gﬁ H)‘ﬁ I 352"' ¢t1§5 I A HTE (Travel) X2
No | Name Material No | Name Material R R
+ . rave
EEF B 0 |BE aae
Piston rod Carbon steel Piston Aluminim alloy E . L : g
By 4= [ imZEE u L H
2 | Anti dust seals PU 11 | Biston ring NBR H S0
s | B AEBAES |, @R HRE
Oil bearing Sinterized bronze Magnet Ferrite — % | P —
i 3% 35 e SE% s o S .k |
4 | Front cover Aluminim alloy 13 Wearing ring POM i HZ—Z{ 1190 A I = = i o i P e e e e TP —@}: ]t- &
s |§tHA %4l T NOE - —t P .
Air cushioning screw Brass O-ring for piston and piston rod . M|
$ O H % A8 A
6 O-ring for air cushioning screw NBR 15 I‘\Iutfcrpiston Carbon steel £ 2@23(51&) L_\ Jr—
. &‘}:Fm NBR 16 Jﬁﬁﬁ %gﬁ-:& el ¥ {Adr cushioning sem!__ Q|
Cushioning seals Back cover Aluminium alloy
BEEOR [ TR L W o
8 O-ring for front cover NBR 17 Tie-rod screw Carbon steel W&/S (Bore/Symbol)| A i = < : E i 8 B : i L
9 fﬁ A‘I‘A_ _” 18 E&%ﬁﬂﬂﬁ ; 5 32 120 | 146 | 26 | 94 | 30 | 30 | 18 | 25 | 22 17 | M10x1.25 | M6
uminium allo t ist
e . SOTRISIONIE Carbon steel 40 135 | 165| 30 | 105| 35 | 325|215/ 205 24 | 17 | M12x1.25| Mé
50 143 | 180 | 37 | 106 | 40 41 28 | 295 32 23 M16x1.5 M8
B # B} /Packing and O-Ring List 63 158 | 195 | 37 | 121 | 45 | 405|285 35.5| 32 | 23 | M16x1.5 | M8
. 80 174 46 | 128 | 45 | 51.3 | 34.7| 36 40 26 M20x 1.5 M10
1A B HHE | W&OLE A e WO | EHONE 220 X
Item Rod packing |Cushion packing|End cover O-Ring| Magnetic Ring Piston Piston O-Ring |Cushion O-Ring 100 189 | 240 51 138 | 55 | 52.8| 38.2| 38.8| 40 26 M20x 1.5 M10
HE 125 225 | 291 | 65 | 160 | 60 | 73 | 46 | 45 | 54 | 41 M27 x 2 M12
HE No. 1 2 Z 2 1 2
HE SR A&/ 5 (Bore/Symbol)| M N o P Q R S T U v W X
$32 BEU-1219 | BPP-1622 $32% p2 | $283% $ 1635 B-QZ8-3224 ¢12% ¢ 2 8% 1.5
32 9.5 12 60NG 181855 55 ) 45 328 10 1)z 10 4
¢ 40 BEU-1626 | BPP-2028 $40% $2 | $363% ¢ 2035 B-QZ8-4032 b14% 24| ¢8¥% 1.5
40 9.5 14.6 | G1/4 6 7 75 54 38 10 16 13 4
$50 BEU-2030 | BPP-2533 $50% ¢2 | $p463% 2235 B-QZ8-5042 ¢16% 24| ¢8% 1.5
50 9.5 14.6 | G1/4 | 8.5 4.5 85 64 46.5 | 11.5 20 167 4
$63 BEU-2030 | BPP-2533 $63% d2 | $59% § 4035 B-QZ8-6353 ¢16% ¢24 | ¢$8#% 1.5
63 9.5 18.1 | G3/8 10 2 12 7 56.5 15 20 17 4
¢80 BEU-2535| BPP-3040 ¢80 ¢2 | ¢ 76% 585 B-QZ8-8070 $20% ¢24 | ¢$8¥% 1.5
80 115 | 7 98 [RGB B 2 7 8 93 72 BT 25 22 4
$ 100 BEU-2535| BPP-3040 | ¢$100% ¢2 | $963% ¢ 7735 | B-QZ8-10090 |$20% ¢2.4| $8¥% ¢ 1.5
100 115 | 19.8 |G1/2 | 11.8 4 10 110 89 19.2 25 22 4
$125 BEU-3242 | BPP-4050 | ¢ 1253% $ 3.5 | ¢ 1203% $ 96:%5 |B-QGP ¢ 110:%9.5 | $ 203 ¢ 2.4 | $12% $1.5
125 11-5 18 | G1/2 8 14 i 134 110 | 20.5 32 27 6

3 <<<<<<<< www.btbjx.com for More Products

www.btbjx.com for More Products >>>>>>>>4



B PR CEB-DNCEH sasorsssonn 150 15582t i~ 5IB-DNCZ ¥ BITEBI"

STANDARD CYLINDER B-DNC SERIES ISO 15552 STANDARD ISO 15552 STANDARD STANDARD CYLINDER B-DNC SERIES
B &P F/ Mounting kits
a %%F{*{*/Mounting kits B-DNC-CA -
kT 1T
B-DNC-LB ©_
i XA+ AQ @
[E1E3} XD+
O | |
o : B-DNC-CB
El i (3] [EL:) i : MR
= : O o
c 4 ._[E_-, N I N S | )
SA+ E I
: o o |
GCh
Lt

#I{%/Bore(mm) AB AH AO Cl E H1 SA TR XA XD+ He
32 T 32 6.5 30.5 45 5 142 g2 144
40 10 36 9 37 54 5 161 36 163 4142/Bore(mm) CB cD E3 H2 L MR UB XD
50 10 45 9.5 41.5 64 6 170 45 175 32 26 10 73 20 13 10 45 142
63 10 50 12.5 44 .5 75 6 185 50 190 40 o8 12 63 o5 16 12 52 160
80 12 63 15 56 93 6 210 63 215 50 32 12 71 27 16 12 60 170
100 14.5 i | 7ot 58.5 110 6 220 74 230 63 40 16 83 32 21 16 70 190
125 16.5 90 22 67 131 8 250 90 270 80 50 16 103 36 29 16 a0 210

100 60 20 127 41 27 20 110 230
125 70 25y 148 50 30 25 130 2N
B-DNC-FA. FB
= B-DNC-TC
iz Gl R
+ 1+ 4—OFB
- L8+ :
TS BN XV—1/2 ,
] :r o L8 ‘_.45__
: | f [B @
@ : : : :
! E . (-
EE i i -0.}
1 I 1 9
[ U - ) I 1
= - | i=El=E
W H3 : LLJ L:m] Lg
]
ZF+ @ i @

#I{%/Bore(mm) E2 EB H3 R iE Ve W ZE I 12/Bore(mm) c2 C3 J5 L8 L9 TD TL ™ uw XV
32 50 i 10 32 64 80 16 130 32 7l 86 30 79.9 66.1 12 12 50 65 T
40 hh 9 10 36 72 90 20 145 40 87 105 32 89.4 75.6 16 16 63 e 82.5
50 65 9 12 45 90 110 25 155 50 99 1} by 34 94.4 83.6 16 16 Ti) 95 a0
63 i 9 12 50 100 125 i 170 63 116 136 41 101.9 93.1 20 20 90 105 97.5
80 100 12 16 63 126 154 30 190 80 136 156 44 118.1 103.9 20 20 110 130 110
100 120 14 16 Tt 150 186 a5 205 100 164 189 48 126.2 113.8 25 25 132 145 120
125 140 16 20 90 180 220 45 245 125 192 217 50 55 134.7 25 25 160 175 145

B <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>> 8§



BITEBI"

Frife "L EIB-DNG 2R 4

STANDARD CYLINDER B-DNG SERIES

fF&1S0 155524r 4
ISO 15552 STANDARD

B-DNG ¢ 32— ¢ 320 1 Z/Head

#H&/Spc X S/Code A B E F G H
$ 32 47 CPER ) ¢ 30 52 19 27
$ 40 53 38 $35 58.5 21 31
¢ 50 65 46.5 ¢ 40 66.5 27 il
63 58 56.5 ¢ 45 69 27 a3
¢ 80 95 T ¢ 45 81.5 33 36
¢ 100 115 89 $ 55 85 36 37
¢ 125 140 110 $ 60 100.5 40 45
¢ 160 180 140 $ 65 120 55 50
$ 200 220 77 $75 131 67 50
$ 250 270 220 $ 90 149 A 60
$ 320 350 270 $110 170 90 65
ﬂ Eﬁﬂ‘ l-I m@ﬁ'}/lﬁt Ordering Code
DNG - |50| - l H | - l # ‘ - l S ‘ - l N | #: 1032-01255RHLEREU,
| ©160- 02507 iR B 4 B 2£DRP,
HERE/ \—‘ ©3205 R4 E 2D,
ﬁ&’(Bore Eﬁ!“ﬁ" Tube Code ﬁaﬁ% Hﬂﬁ“’v \2\# *ﬂfﬁﬁ@ﬁj&ﬂﬂo
©32-0320  Gasket Material =R /Magnet Code Thread Code Remark:
= TPU Blank:Round §EI:Z<%W =TEGHF 1:®32- @ 125high temperature anti dust wiper,
B|a|'.lk'TPU tube Blank:Without Blank:G thread @ 160- D 250high temperature anti dust wiper,
@ . @ #BY maanst N:NPTF @ 320high temperature anti dust wiper.
:;}:;: #:mickey SIS 9 N;NPT thisad 2 # mickey mouse tube maximum diameter 200.
mouse tube  s.\yjth magnet P:PT#
P:PT thread
B k% /Specification red
W #&/Bore (mm) 3240 50 | 63 | 80 [100 [ 125 | 160] 200 250] 320
1% = iR 5 El/Available temperature -10~250
£ 1% 1712/Cushioning travel (mm) 20 | 25 | 30 | 32 40 50
EE OE/Port size G1/8 G1/4 G3/8 G1/2 G3/4 G1"

7 <<<<<<<< www.btbjx.com for More Products

®

% A1SO0 1555247 i fﬂ%iﬁ%ﬂﬂ:B—DNGg yll BITEBI

1SO 15552 STANDARD

® | ﬁi}ﬁﬂ/Standard type

STANDARD CYLINDER B-DNG SERIES

<

tie rod

www.btbjx.com for More Products >>>>>>>>8



BITEBI" BITEBI"

br i X ELB-DNG 2 4|

STANDARD CYLINDER B-DNG SERIES

b X EIB-DNGZ 4l

STANDARD CYLINDER B-DNG SERIES

fF&1S0 155524r 4
ISO 15552 STANDARD

FF&1S0 15552%r#
1SO 15552 STANDARD

IIkJ ﬁ%?;';ﬁd&jiﬁ'%;ﬂ—ﬁ Hi/lnner structure and material list for main parts

1 2 3 4 5 [ i l‘ll 9 10 11 12 13 14 15 16 14 B 9 7 B ] 17 18 n ;’I‘%Bﬂ%/()verall dimension
- 0l AT (Travel) ’
B-DN ar B CHTHE (Travel)
N NNV I
4 e e e A S S | s E E G gL o B ol
= N A H / (&ir cushioning scr
el %Ja | Y T 3 |
\no W Blfl |1 = =
20 NS = L h {
X/ = 7 N
e e R . s 20 '
o | Name ateria o | Name ateria L J :
& 4TI (Side)
| [EEARR T i |Em BEE 8L/ TS N[ [N
Nut for piston rod Carbon steel Tube Aluminium alloy
B HE BESE S o
2 | ‘anti dust seals PU 12 | Biston Aluminium alloy (B-DNG) AHTE (Travel) X2
2 it & MEHRFEE L O
3 | Gil baaring Sinterizedbronze | 13 | O-ring for piston and pistan rod b - - - Sl i - Bl ren >
HimE BREE mEE 2-4E MR (air cushioning screw) =
& |t cover At inim silloy 14 | Biston ring e LB / it
5 |¥H 5947 HEER A
Air cushioning screw H59 brass 15 | Magnet Ferrite P
#EOLE 515 o o
& O-ring for air cushioning screw NBR 16 | Wearing ring POM }
£ 18 2 35 i 2E B £ 47 05 U—E]—UZ] {
& Snap ring for air cushion hole screw Spring steel 17 ‘Nut for piston and piston rod fixed Carbon steel @
22 i RinE BESE
8 Cl:shioning seals NBR 18 | Back cover Aluminium alloy
O-ring for front cover 19 | Tie-rod nuts & screw Carbon steel —
10 |BEF R M 1&/55 S (Bore/Symbol )| A A, |[B| C D E = G H | | K I£ N
Piston rod Carbon steel 20 | Tie-rod Carbon steel 32 142 190 | 48| 94 [ 30 | 29 |19 | 27 |22 |17 | 6 |[M10x1.25 M6 12
B 6541/ ackin s 0-Rin i ST e o e e i
= . 244 x1. .
A& B < [ ZhE =0 BLIR i ZE R Z OB E
item Rod packing |Cushion packing |[End cover O-Ring| Magnetic Ring Piston Piston O-Ring |Cushion O-Ring 63 190 [ 259 | 69 | 121 | 45 42 27 e || e || ek 8 M16x1.5| M8 | 16.5
BE # & No. 80 214 | 300 | 86 | 128 | 45 B3N 33 36 | 40 | 26 | 10 |M20x1.5| M10 19
Bore size mm L = = 1 2 ! < 100 229 (320 | 91 | 138 | 55 BEN A6 37 | 40 | 26 | 10 |M20x1.5| M10 18
$32 BEU-1219 | BPP-1622 | $32% ¢2 $28% $16%5 B-Q78-3224 $12% ¢2 | $8%¢1.5 125 279 | 398 [119| 160 | 60 | 79 | 40 | 45 | 54 | 41 [13.5 | M27x2 | M12| 23
¢ 40 BEU-1626 | BPP-2028 $40% ¢ 2 $ 363 ¢ 2035 B-QZ8-4032 p14% 2.4 | $8% $1.5 160 332 | 484 |152| 180 | 65 94 | 55 50 | 72 | 55 | 18 M36x2 | M16| 25
950 sl i O R SO W i £ BAEB-0048 T e 1on 62S 8RR ¢ 16 200 347 | 514 |167| 180 | 75 | 100 | 67 | 50 | 72 | 55 | 18 | M36x2 | Mi16| 25
$63 BEU-2030 | BPP-2533 | 63 92 | 950 $40%5 B-QZ8-6353 0164424 ] ¢8% 915 o T P ey e W e e e e Yl T R R T T
¢80 BEU-2535 | BPP-3040 | $80% ¢2 | ¢76% ¢58%5 B-QZ8-8070 020% 2.4 | 8% 1.5 o 455 | geal 1576 250 | 1101 Aor a0 |6e |68 720 5t | Meexa | Me4| 46
$ 100 BEU-2535 | BPP-3040 $ 100 ¢ 2 $ 963 ¢ 775 B-QZ8-10090 $20% $2.4| ¢B% 1.5
$125 BEU-3242 | BPP-4050 | 125% 63.5| ¢ 120% 96%6 | B-QGP§110%95 | 620% 62.4 | 12% ¢1.5
AN {2/%5 S (Bore/Symbol)| O P Q R S T Vv w X Y
M RI?“:E% . . IREORME ’ ﬁﬂin }"Eﬁﬁ . ﬂu;.;ﬂ; cﬂﬁogﬂéﬂ 32 G1/8 | 5.5 7 6 47 325 12 10 3 30
i ; : g [Enc ohl S o alledin gt
item — od packing |Cushion packing |End cover O-Ring agnetic Ring iston iston O-Ring |Cushion O-Ring T T : . - o == = - — —
0.
Eﬁ 1 2 2 2 2 1 2 50 G1/4 b ) 8.5 65 46.5 20 17 a5 40
Bore size mm
BEU-4050 } . ‘ _ _ _ 63 G3ls | 7.5 75 | 115 75 | 56.5 | 20 17 4 45
$160 Cos_g04g | BPP-5060 | $160% ¢4 | §155% $131.5%6 | B-QGP145%9.5 | 403 $3.1| 9125 1.5 . A | O BT . = oE B 4 s
200 BEU-4050 BPP-5060 200% &4 105% $172%6 | B-QZ86 180 68 403 631 195% $1.5 100 G1/2 9.5 85 i35 1S 89 A5 22 4 55
¢ BB3-4048 - ¢ “e ¢ =4 ' Ry PE s [eilea o IR e A RTE 125 G1/2 10 12 18 140 110 32 27 4 60
BEU-5060 160 G3/4 15 12 15 180 140 40 36 4 65
$250 BPP-5774 | $250% ¢4 | $245% $2223%6 | B-QGP $230% $14 | $38% ¢4 | $16% ¢2
BB3-5058 i i 200 G3/4 15 12 20 220 175 40 36 5 75
BEU-6375
$320 BB3_ga7a| BPP-7895 | $320% 05 | $315% $20256 | B-QGP$205% ¢ 14 | 9435 93.5| $163% ¢2 250 G1 - 10 3 270 | 220 20 i 8 90
320 G1 30 15 £ 350 270 63 i 10 110

9 <<<<<<<< www.btbjx.com for More Products

www.btbjx.com for More Products >>>>>>>>10



B FUE X HB-DNGEH oo rsssonn 150 15550150 b SIB-DNGZ 4 RELESE

STANDARD CYLINDER B-DNG SERIES ISO 15552 STANDARD ISO 15552 STANDARD STANDARD CYLINDER B-DNG SERIES
u FH’H—‘/Mounting kits a FH’FI‘/Mounting kits
9h%ﬁﬂ‘z§'/0utside dimension K 2 #4 fl}r[/Accessories material
B-FA B ££/Mounting kits £ % Mt #F/Install accessories EE #E B #/Connector kits
£ Z/Bore LB Fa| FB| cr| cal cB| TC |FTC| TF ™ LY | Fou
_ A+FTFR (Travel ) 32-100 f&ﬁﬁ ﬁgﬁﬁ %% %Aﬁ
4—pEP BC Low carbon steel Aluminium alloy Cast steel A5 3l
BB | | CH{TIE (Travel ) Aluminium alloy| Carbon steel
ﬂk*—w—'r 1 125-320 #4R/Carbon steel
C
— R g
(A it
| e A+§TFE | Travel )
E e W a @ @ —‘ C+4588 { Travel)
il Y S AL 5| -
o 1614
) g
R D -
oA |
#2/M%(Symbol/Bore) 32 40 50 63 80 100 | 125 160 | 200 250 | 320
A 142 | 159 | 175 190 214 229 | 279 332 347 389 | 436
G 94 105 | 106 121 128 138 | 160 180 180 200 | 220
B-FB S 47 52 64 74 94 113 | 139 180 | 220 210 | 350
T 325 | 38 465 | 565 72 89 110 140 175 220 | 270
o A (Travel) DC 22 25 27 32 36 41 50 55 60 70 80
o DD 9 10.5 11 135 | 145 17 22 25 25 40 45
J CHTR (Travel) BBi DE 10 12 12 16 16 20 25 30 30 40 45
] K o — DJ 13 16 17 22 22 27 33 35 35 47 52
oy 4 DQ 258 | 275 | 31.7 | 39.7 | 49.7 | 59.7 | 69.7 90 90 110 120
AR @ —
Bl ) -
o a - ﬁﬂr @ @ 5"‘%'3&*&/0\!(&1’311 dimension
(W i ] b .
n. j T @ @ B-CB
& ® “ -
e cc . A+§712 (Travel ) '
@ s ) o , CHi5 82 (Travel) cJ
t H = , e e
DEA N i ~a ] = | o T 3
[ ——a BNlece U Dl et ' L %[5
=3 i l : ‘ L b
1]
= B % = S = = = == e =55 = % 8/ME(SYMBOL/BORE 32 40 50 63 80 100 125 160 200 250 320
£ 8/AE(Symboltiore) A 142 | 159 | 175 | 190 | 214 | 229 | 279 | 332 | 347 | 389 | 436
A 142 | 159 | 175 190 214 229 | 279 332 347 389 | 436 B 5 e pe o ey = e I T
C 94 105 106 121 128 138 160 180 180 200 220 ce 20 25 27 32 36 41 50 55 60 70 80
BA 30 35 40 455 45 55 61 66 76 91 110 cD 9 10.5 11 13 14 175 | 215 30 30 40 45
BB 10 10 12 12 16 16 20 20 25 25 30 CE 10 12 12 16 16 20 25 30 30 40 45
BC 45 52 65 75 95 115 | 139 | 180 | 220 | 270 | 349 cJ 13 16 17 22 22 27 31 35 35 47 52
26 28 32 40 50 60 70 90 90 110 120
BD 32 36 45 50 63 75 90 115 135 165 | 200 i
& 45 52 60 70 90 110 | 130 170 170 200 | 220
BE 80 90 110 120 150 175 | 220 | 280 320 390 | 470 o = 55 = o= = T 381 61 950 I 240
BF 64 72 90 100 | 126 | 150 | 180 | 230 | 270 | 330 | 400 PB1 455 | 525 | 60.5 | 705 | 90.5 | 10.5 | 130.5 | 70.5 | 170.56 | 202 | 222
BP 7 9 9 9 12 14 16 18 22 26 33 s 47 52 64 74 94 113 | 139 180 | 220 270 | 350
T 325 | 38 465 | 56.5 72 89 110 140 175 220 | 270 ¥ 325 | 38 465 | 56.5 72 89 110 140 175 220 | 270

11 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>12



R

B PR EB-DNGEF  1aisorsseommn 150 15582t bl SIB-DNG £ ¥l RIEERI

STANDARD CYLINDER B-DNG SERIES ISO 15552 STANDARD ISO 15552 STANDARD STANDARD CYLINDER B-DNG SERIES
& Fﬁﬂ‘/Mounting kits a FHH—‘/Mounting kits
A+{TEE (Travel)
B-LB = s B-TF
L C+57H8 (Travel ) o
i A+$7FE (Travel)
C+§7%8 (Travel)
(C+§T#2/ Travel ) /2 .
"""" AR | L J L
(Bt Ml A==ty
% : iRl
= Tl h
| T = . I___| : 511
AF AG 4D & @ —
1 < 3 ;
<E B AC+{TRE (Travel ) 4 \ e
g AA+FTRRIT |
_+i‘-_|-ﬁﬂ ravel | B = F | [[1|
M
#E//#(Symbol/Bore) 32 40 50 63 80 100 125 160 200 250 320 G - '
A 142 159 175 190 214 229 279 332 347 389 436
Cc 94 105 106 121 128 138 160 180 180 200 220 FE: B %2 38 40 B R AT B A % /Remark: install position can not be changed.
AA 158 179 190 209 248 266 290 340 380 420 470
AC 142 | 161 | 170 185 | 210 | 228 | 250 | 300 | 320 | 350 | 390 # S/ &(Symbol/Bore) 32 40 50 63 80 100 125 160 200
A 142 159 175 190 214 229 279 332 347
AD 8 9 10 12 19 19 20 20 30 35 40 AA Bg o = s ” s - = =
AE 47 53 65 75 95 115 140 180 220 270 350 B 66 86.5 91.5 115 126 157.5 175 215 262.5
AF 32 36 45 50 63 75 90 115 135 165 200 C 94 105 106 121 128 138 160 180 180
AG 24 | 28 32 32 41 45 45 60 70 75 85 e ‘:‘13 ?‘;‘ ’15‘1* :‘13 :‘13 ?g ?g 1;40 12375
D
AH 32 36 45 50 63 71 90 115 135 165 185 e - 7 - - 7 18 o = 5
AP 7 9 9 9 12.5 14.5 16.5 18 22 28 35 = 60 75 75 85 85 115 115 140 150
AT 3 3 3 3 4 4 8 8 9 20 23 e 80 100 100 110 110 155 155 190 200
H 52 65 75 90 112 135 170 210 255
B-TC ) | 12 16 16 20 20 25 25 32 32
oo . J 20 27 31 42 54 68 80 100 125
CHFE (Travel) s K 50 63 75 90 110 132 160 200 250
O L 62 79 91 110 130 157 185 232 282
0 M 77 98 110 133 153 185 213 267 317
r”j N 12 16 16 20 20 25 25 32 32

@{__)ég B-FTC A+{TE (Travel)
e

- C+§7E (Travel)

i

Ady
B

(CH+§788 Atravel ) /2

GCA
a1
i MR 38 (T B R A =i #¥/Remark: install position can not be changed.

I 42/% 2 (Bore/Symbol) A G D F G H J S X T '
32 142 94 12 52 50 74 22 47 3 32.5
40 159 105 16 65 63 95 28 53 3.5 38

H /A (Symbol/Bore) 32 40 50 63 80 100 125 160 200
50 173 108 i = i3 107 = &= 33 il A 142 159 175 190 214 229 279 332 347
63 190 121 20 90 90 130 30 75 4 56.5 AA 74 95 107 130 150 182 210 264 314
80 214 128 20 112 110 150 32 95 4 72 B 50 63 75 90 110 132 160 200 250
c 94 105 106 121 128 138 160 180 180
100 229 138 25 135 132 182 38 115 4 89 o . 16 - 20 T o e . oy
125 279 160 25 170 160 210 40 140 4 110 D 32,5 38 46.5 56.5 72 89 110 140 175
E 46 52 64 74 94 114 139 179 218

332 180 32 210 200 264 50 180 4 140
L F 19 21 26 28 31 35 43 56 64
200 347 180 32 255 250 314 50 220 5 175 K 10 10 12 12 16 16 20 20 20

13 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>14



R ®
B fﬂi?ﬁ%ﬂB—DNG%ﬂ %&1S0 1555245 HA&1S0 212874 %%ﬂ%{ﬂB_ADN%y'J RIEER

STANDARD CYLINDER B-DNG SERIES ISO 15552 STANDARD ISO 21287 STANDARD COMPACT CYLINDER B—AND SERIES

B Fif fF/ Mounting kits
B-SNCS

A+§78 (Travel |

C+§7I | Travel]

.
L

5B/ 2(Symbol/Bore) 32 40 50 63 80 100 125
A 142 159 175 190 214 229 279
C 94 105 106 121 128 138 160
S 47 ] 65 75 95 115 140
aF 325 38 46.5 56.5 72 89 110
DC 22 25 27 32 36 41 50
DD 16 19 21 24 28.5 30 40 B ACAE T WA /Kit Ordering Code
DE 10 12 16 16 20 20 30
o T T T S B N - 0 « 3 - [8] - [iB
B-LNG5CBE. S H/LNG Working with CB
; A+TTER (Travel) &S /Model MEEI A /Magnet  51#%/Bore T8/ Travel & /Thread code BERK/
[ B .
= - Mounting type
. 78 (Tvl) 5 ADNAFREHE  SHHE =8: BF s
ADN: Standard S:With magnet Blank: Inner thread . HEAH/Basic
bl double action  Z= A HiHE B: 5M3/Outer thread LB: Mz
Blank:without magnet N: 7t ZF/Without thread /Foot mount
i 4 - 4—m[;\ﬁms.m FA/FB: jEX%it
{. ?_ﬁ @ a-a‘::chm/ﬂmugm /Flange mount
“l ] T | e CA: BEARRE
L i L /Male clevis
. CB: WEH%S
E | HEFHOKESNFER /F f”ué i
Mol ¥ Female thread and without thread have the same length of the piston rod. SmeSeans
CD
#HE/A{E(Symbol/Bore) 32 40 50 63 80 100 125
A 142 159 17 190 214 229 279
AA 32 36 45 50 63 74 90
B 26 28 32 40 50 60 70
= 94 105 106 121 128 138 160
CD 50 56 68 T 93 106 ah
cJ 10 12 13 17 19 22 26 @Available in Bores A& 2
D A 24 32 32 ae 23 8 ©12-16-20-25-32-40-50-63-80—100mm
E 18 22 30 35 40 50 60
@®Kits available 7Jj
F 31 35 45 50 60 70 90 RN R
G 8 10 12 14 14 17 20
H 38 41 50 52 66 76 94
| 51 54 65 67 86 96 124
K 6.6 6.6 9 9 11 11 14 ADNISO 21287
n " = = = 18 18 21

15 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>16



BITEBI" BITEBI"

BER/EB-ADNZ ¥

COMPACT CYLINDER B—-AND SERIES

B ER/EB-ADNZ 4|

COMPACT CYLINDER B—AND SERIES

F&ISO 21287HR A
ISO 21287 STANDARD

FFE1S0 21287Fr#
ISO 21287 STANDARD

Bl b5 e/ Standard type

l*] %ﬂgkwﬁfﬁ‘gﬂ‘ﬂﬁ/lnner structure and material list for main parts
a P

17 <<<<<<<< www.btbjx.com for More Products

N S
NN K
Ay I
l e L £. %0
— 1\ g
i A =
: @ 7
] il
FS| &R w5 FS| &R iR
No MName Material No | Name Material
1 iHEF BN B EFFORYH NBR
Piston rod Carbon steel O-ring for piston rod
BA 4 B HETHERE
e Anti dust seals NBR 8 Piston ring e
3 | WimE BEE o | BH SR
Front cover Aluminim alloy Magnet Ferrite
4 | AW WEBAA S 10 | BE Bae
Qil bearing Sinterized bronze Piston Aluminium allo
5 | EEROIE NBR 11 | EEARIR B
O-ring for front cover Nut for piston rod Carbon steel
6 | &m Bas 12 | FHE CETY
Tube Aluminim alloy Back cover Aluminium alloy
n ﬁ‘ﬁ]‘ﬂ‘/?acking and O—Ring List
Uk B IEEORME FER B IR £ TN |
Item Rod packing Front cover O-Ring Piston Magnetic Ring Piston O-Ring
~ SN, 1 2 2 1 2
Bore size mm
12 EM-0609 $12*¢$9*1.5 GMP12*6*6 $10.5*$4"3 -
$16 EM-0811 16" ¢ 13*1.5 GMP16*8*6 $14.5*$5"3 -
$20 EM-1014 620" ¢ 17*1.5 GMP20*10*6 $18*$6*3 -
¢ 25 EM-1014 25" ¢$22*1.5 GMP25*10*6 $23*$6*3 -
$ 32 EM-1214 $32"¢$29%1.5 GMP32*26*7 $29.5*$ 165 11" 72
¢ 40 EM-1214 40" ¢ 37%1.5 GMP40*32*7.25 $37.5"$20"5 11" 7*2
¢ 50 EM-1620 50" $47*1.5 GMP50"43*7.25 $46.5 $22*5 $13*$9*2
$ 63 EM-1620 $63*$59.4*1.8 GMP63"55*7.25 $59.5*$40*5 $13*$9*2
¢80 EM-2025 80" ¢ 752 GMP80*72*11 $76.5* $58"5 $18*$13*2.5
¢ 100 EM-2025 $100* ¢ 962 GMP100*90*13 $96.5"$77"5 $18*$13*2.5

www.btbjx.com for More Products >>>>>>>>18



=)

BITEBI  wys i { HB—ADNZR I  se0omenss osommesn | BEMSHB-ADNZY] ~ BITEBI

COMPACT CYLINDER B-AND SERIES ISO 21287 STANDARD I1ISO 21287 STANDARD COMPACT CYLINDER B-AND SERIES
n Z‘ffyz R 5} /1nstall dimension u b F R} /Outer thread dimension
®©12~025 ©12~025 pan
E ; |
ZJ+ ZA+
E
ZA+ G G
, . |
l AM
2-£E
2-EE
= . :
w -5 ! absr e wl @ £ x| [ b e
i i i
L/
W .
2T (Side) 2 65 (Side)
®©32~0100
& ZJ+
16 i ZAt ©32~0100
/.ﬂ | E ) FATS
G G TG ZA+
KK G G
i (Deep)L =
&
: AM
w| 2 E '/—-‘\j |
./ g 2-EE
1} 1
2| ~
2 4G (Side) . - 2 5[”-"-"'-'"-' " el st i “'"-"""
W
TR (Side)
A 12/%5 S (Bore/Symbol E G EE MM M KK L TG W ZA 7
( / ) A {2/FF S (Bore/Symbol) | AM E G EE MM M KK TG w ZA zJ
12 215 10.5 M5 6 M4 M3 8 16 oy 35 40
12 10 275 10.5 M5 6 M4 M5 16 o 85 40
16 29 11 M5 8 M4 M4 10 18 7 35 40
16 12 29 11 M5 8 M4 M6 18 7 35 40
20 Shi 12 M5 10 M5 M6 14 22 8 37 43
20 16 35.5 12 M5 10 M5 M8 22 8 D 43
25 39.5 12 M5 10 M5 M6 14 26 8 39 45
25 16 39.5 12 M5 10 M5 M8 26 8 39 45
32 47.5 15 G1/8 12 M6 M8 16 32.5 10 45 50
32 19 47.5 s G1/8 12 M6 M10*1.25 a2y 10 45 50
40 Sh:5 14.5 G1/8 12 M6 M8 16 38 10 45 51
40 19 56.5 14.5 G1/8 12 M6 M10*1.25 38 10 45 51
50 66.5 14.5 G1/8 16 M8 M10 20 46.5 14 45 53
50 22 66.5 14.5 G1/8 16 M8 M12*1.25 46.5 14 45 503
63 79.5 14.5 G1/8 16 M8 M10 20 by 14 50 Hi
63 22 79.5 14.5 G1/8 16 M8 M12*1.25 56.5 14 50 57
80 100 16 G1/8 20 M10 M12 20 72 17 66 63
80 28 100 16 G1/8 20 M10 M16*1.5 72 1|77 66 63
100 120 19.5 G1/4 20 M10 M12 20 89 17 67 76
100 28 120 19.5 G1/8 20 M10 M16*1.5 89 117 67 76

19 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>2(0



BITEBI  wys i { HB—ADNZR I  se0omenss osomess | BN MB-ADNZY|  BITEBI

COMPACT CYLINDER B—-AND SERIES ISO 21287 STANDARD ISO 21287 STANDARD COMPACT CYLINDER B—AND SERIES

B &P/ Mounting kits

I ZR % 3 B-LB/Foot mount B-LB
n 5"‘2: }QTj‘/Outer Thread Dimension XA+ AO

L

ZJ+§792 (Travel }x2

i P — @ .
o @,
4-DAB
e ) K
c1 T TR
SA+ e E
! g
3| o] g D M T R _ W@AFS(Bore/Symbol) | AB | AO | AH | ct | E | sA | TR XA
: 7 12 5.8 5 21 13 26 61 16 53
, 16 5.8 4.75 22 13 27.5 61 18 53
20 7 6.25 27 16 34.5 69 22 59
25 2 6.25 29 16 38.5 71 26 61
T4
A B e 32 7 7 33.5 16 46 77 32 66
A AF 40 10 9 38 18 55 81 36 69
50 10 8 45 21 65 87 45 74
63 10 8 50 21 78 92 50 78
2R T2 80 12 10.5 63 26 100 107 63 89
e T W (Tl 100 14.5 12.5 74 27 120 121 75 103
’ BB E=Z®R%EHB-FA/Front and read flange mount B-FA
. ©32~9100 ©12~D25
AM AM

E

e o R

2 2
_ ' . |
| | Bl ST T o
h : . 1
i 1 —_ 1
- - OB T . A
! © 4
o : M
Lt it =] 1 /j“\ -
| 1| | H3 @ LM 2- oFB
4—DFB
A 42/% S (Bore/Symbol) | AF AM T4 MM KF KK WH ZA zJ
12 8 10 e 6 M3 M5 5 35 45 #1712/ 2 (Bore/Symbol) E FB H3 R TF UF
16 10 12 15 8 M4 M6 5 35 45 12 28 5.5 8 - 40 50
20 14 16 2.6 10 M6 M8 6 37 49 16 29 3.5 8 = o 23
25 14 16 2.6 10 M6 M8 6 39 51 20 36 6.6 8 - 55 70
32 16 19 33 12 M8 M10*1.25 5 45 55 22 il L g = Ll i
32 a7 7 10 32 64 80
40 16 19 3.3 12 M8 M10*1.25 6 45 57
40 56 9 10 36 72 90
50 20 22 4.7 16 M10 M12*1.25 8 45 61 &5 50 g = = a6 o
63 20 a5 4.7 16 M10 M12*1.25 7 50 64 5 o 3 S 50 100 125
80 20 28 6.1 20 M12 M16*1.5 8 55 70 80 100 12 16 63 126 154
100 20 28 6.1 20 M12 M16°1.5 9 67 85 100 120 14 16 75 150 186

21 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>22



BITEBI"

BER/EB-ADNZ ¥

COMPACT CYLINDER B—-AND SERIES

B &3P 7F/ Mounting kits
B HE/Male clevis B-CA

-

W HE/Female clevis B-CB

T
1
i
13
===
1

o5 @1/8
L

FF&I1SO 21287r i

ISO 21287 STANDARD

XD+

@53 \@}"a

FF&1S0 15552%r#
1SO 15552 STANDARD

BITEBI"

Fr L EB-MBZ 41

STANDARD CYLINDER B—MB SERIES

B-MB ¢ 32— ¢ 1258 %/Head

MA&/Spcrfk /Code A B E F G H
¢ 32 46 32.5 30 46 13 27
$40 52 38 35 46 13 27
¢ 50 65 46.5 40 51 14 31
$63 75 56.5 45 51 14 31
¢80 95 72 45 64 20 38
$100 114 89 55 64 20 38
$125 138 110 60 74 27 40

:
Or© |
\ i k_‘ l ®CD
B ol
uB ‘__JE___J
, - |
i 12/%5 2 (Bore/Symbol) CcB cD E3 H2 L MR UB XD
32 26 10 55 22 13 10 45 72
40 28 12 63 25 16 12 52 76
50 32 12 71 27 16 12 60 80
63 1 a0 | 16 83 32 21 16 70 89
80 50 16 103 36 22 16 90 99
100 1 60 20 127 41 27 20 110 117

ﬁﬂ‘”‘lfﬂ@ﬁ'}/lﬁt Ordering Code
MB - |50 - |H|-|#|- S|

Eﬁﬂ:

23 «<<<<<<<< www.btbjx.com for More Products

R/ EAKS/
Tube Code M tCod

iIf2/Bore  Gasket Material =g FEf g;ﬁ;%% x

©32-0125 : :
Z H:NBR B.Iank.FIound lubs Blank:Without magnet
Blank:NBR ' KEM SHHBE
H-EKM #:mickey mouse tube S:With magnet

ﬂ i3 *F&/ Specification
K 4&/Bore (mm) 32 [ 40 ‘ 50 ‘ 63 | 80 [ 100 ‘ 125
I 37 /= 35 18 A iR B SE El/Available temperature C -10~250
£2 1T #2/Cushioning travel (mm) 24 30 25
1% 00 3/Pont size G1/8 | G1/4 G3/8 G1/2

www.btbjx.com for More Products >>>>>>>> 24



BITEBI"

u ﬁ.ﬂﬁﬁu/ Standard type

br i 7 ELB—-MBZ 4

STANDARD CYLINDER B—MB SERIES

fF&1S0 155524r#
ISO 15552 STANDARD

®

b U 2 5LB—MB 2 Jl BITEBI"

STANDARD CYLINDER B—MB SERIES

FF&1S0 15552%r#
1SO 15552 STANDARD

n IJk] %B?Jaﬁﬁjiﬁ‘%ﬂ-ﬂlﬂi/mner structure and material list for main parts

12 13 14 15 16 17 8 9

S| & #ER FS| &R R
No Name Material No | Name Material
;| EEARR B 11 | fee
Nut for piston rod Carbon steel Tube Aluminium alloy
B 2 & EFFORE
s Anti dust seals NBR e O-ring for piston rod NBR
3 | &R REHAA 13 | BE HER
Qil bearing Sinterized bronze Piston Aluminium alloy
A 25 e iE 2
o Fron::over Aluminim alloy L Piston ring NER
5 | §t@ 5944 15 | HH ET
Air cushioning screw H59 brass Magnet Ferrite
6 | SHRONM NBR 16 | FAW POM
Q-ring for air cushioning screw Wearing ring
Snap ring for air cushion hole screw Spring steel Piston fixed screw Carbon steel
2 m Eins o
5 Cushioning seals NBR 18 Back cover ﬁu?qinium alloy
QO-ring for front cover Tie—rod nuts & screw Carbon steel
10 | EEAH N 20 |
Piston rod Carbon steel Tie-rod Carbon steel

n % B ’H‘/Packing and O—Ring List—". [ i £/ Single ring piston

A e FiE IO E IR BEEE 40 B 28 0% [
Item Rod packing | Cushion packing | End cover O-Ring Magnetic Ring Single ring piston | Piston O-Ring| Cushion O-Ring
# & No. 1 2 2 2 1 1 72
Bore size mm
$ 32 BDRP-12 BPP-1622 32k ¢ 2 ¢ 31.5% $21%5 B-COP-32 12k ¢ 2 $8% 1.5
¢ 40 BDRP-16 BPP-2028 40 ¢ 2 ¢ 3953k ¢ 24 %5 B-COP-40 $16:% ¢ 2 $8# 1.5
¢ 50 BDRP-20 BPP-2837 503 ¢ 2 $ 4953k ¢ 323%5 B-COP-50 $20:% $24 $8# $1.5
$ 63 BDRP-20 BPP-2837 $ 63 ¢ 2 $ 6253 § 42%5 B-COP-63 $20% 24 $8# $1.5
¢80 BDRP-25 BPP-3545 & 803 ¢ 2 ¢ 79.53% ¢ 583%5 B-COP-80 $25:% $24 $8# $15
¢ 100 BDRP-30 BPP-3545 $1003% ¢ 2 $ 995 ¢ 783%5 B-COP-100 ¢ 303 ¢ 3.1 $8% $1.5
125 BDRP-32 BPP-4050 $125% ¢ 2 b 124.5% ¢ 96:%6 | B-COP-125 $32% ¢ 3.1 ¢12#% ¢ 1.5

25 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>> 286



SUISIRSEIE PRUE“CHIB—MB&R N aisoisss0mn 150 1555288 b fE L LB — M B 7 4] SITEBL

STANDARD CYLINDER B—MB SERIES ISO 15552 STANDARD 1SO 15552 STANDARD STANDARD CYLINDER B—MB SERIES

B &3P 7F/ Mounting kits

n !-gﬂzﬂ‘T/Basic specification B-LB® R +/B-LB Size
(832-9200)
g \ S . z ¥ S/M12(Symbol/Bore)| 32 | 40 | 50 | 63 | 80 | 100 | 125
os B CHTER (Travel) [ The medium line of a eylinder 'Ei AA 146 | 154 | 170 | 176 | 202 | 210 | 250
= L L I‘L"- Ae | | A | AC 128 | 132 | 148 | 148 | 174 | 178 | 210
' ‘ = ] - A0 | AD 9 |11 | 11| 14 | 14 | 16 | 20
T / asaksi Al AE 50 | 55 | 70 | 80 | 100 | 120 | 140
5 _____ﬁg,v__““é _________________________________ i_____@____ - AAziT e ' AF 32 | 38 | 46 | 56 | 72 | 89 | 90
T AG 22 |24 | 27 | 27 | 30 | 32 | 45
T T? $ ;ﬂ o ol AH 30 | 33 | 40 | 45 | 55 | 65 | 81
~ 1y R N, i [ @,/_ L AP 7o ol12]12]14]16
e AT 32(32|32|36|45[45] 8
A (Peavel) 2 B-FAE! R~} /B-FA Size HE/R1E(Symbol/Bore) | 32 | 40 | 50 | 63 | 80 | 100 | 125
= e T S E— e | = “fﬁgmﬁn B-FB#®! R~ /B-FB Size AJ 11 | 11 | 14 | 14 [175/17.5] 19
8 o vo ™ n QK 7|7 | 7| 9 [105/105] 13
— - BA 31 | 36 | 41 | 46 | 46 | 56 | 61
. | [ e A BB 10 | 10 | 12 | 12 | 16 | 16 | 20
e A B o ﬁ.—.|DT iB; BC 50 | 55 | 70 | 80 | 100 | 120 | 140
. i f ® ® ) ‘—_;_:l BD 32 | 36 | 45 | 50 | 63 | 75 | 110
5/'_/ ;/ f % 2 [ BE 79 | 90 | 110 | 120 | 153 | 178 | 224
L _.uL_ e i PO R K —/ 8 8 T8 BE | 64 | 72 | 90 | 100 126 | 150 | 180
o ot - BH 6.5| 6.5 | 8.5 | 8.5 |10.5/10.5(12.5
= J = BP 7| 9| 9|9 |12]|14] 16
M 1E/55 S (Bore/Symbol )| A A, B G D E E G H | 4 K L 4-0BP ™0 325| 38 14651565| 72 | 89 | 110
32 131|178 |47 | 84 | 30 | 34 |13 | 27 |22 |17 | 6 | M10x1.25 M6
40 135|186 |51 | 84 | 35 | 38 |13 | 27 |30 [19 | 7 | M14x1.5 M6
50 152 (210 |58 | 94 | 40 | 44 |14 | 31 [ 35 |24 | 8 | Mi18x1.5 M8
63 152 (210 |58 | 94 | 45 | 44 [ 14 | 31 |35 |24 | 8 | M18x15 M8
80 186 | 258 |72 | 114 | 45 | 52 | 20 | 38 | 40 [30 | 10 | M22x1.5 M10
100 186 | 258 |72 | 114 | 55 | 52 | 20 | 38 | 40 [30 | 10 | M26x1.5 M10 B-CA® R +}/B-CA Size
125 217 | 304 |97 | 120 | 60 | 74 | 25 40 | 54 | 41 |13.5 M27 x 2 Mi2 #E/M 12 (Symbol/Bore)| 32 | 40 | 50 | 63 | 80 | 100 | 125
i s S 46 | 52 | 65 | 75 | 95 | 114 | 140
M 12/ S (Bore/Symbol ) N O P Q R S i v w or
32 13 G1/8 4 6.7 6.5 46 32.5 12 10 005, E P58 AR 48001 46 |00 | T1R
40 14 G1/4 4 7 9 52 38 16 13 7 O e 88 Y 2 S|P e e [l s e
50 15.5 Gi/4 5 87 | 105 65 46.5 20 17 @r@ DD LS B
63 15.5 G3/8 9 8.8 12 75 56.5 20 17 DE L e ) e ) Rl
80 19 G3/8 1156 | 115 14 95 72 25 22 Aol DJ 18 |13 | 17 | 17 | 26 | 26 | 33
100 19 G1/2 17 10 15 114 89 30 26 @ @ DQ 14 | 14 | 20 | 20 | 30 | 30 (69.7
125 23 G1/2 14 12 14 140 110 32 27 i 42

27 <<<<<<<< Wwww.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>28



BITEBI"

br i 7 ELB—-MBZ 4

STANDARD CYLINDER B—MB SERIES

B 2B E/ Mounting kits
B-CBE! R~}/B-CB Size

PAI

fF&1S0 155524r#

ISO 15552 STANDARD

B-TCER~/B-TC Size

EB

ER)

#S/M#E(Symbol/Bore) | 32 40 50 63 80 100 125
CcC 23 23 30 130 42 42 50
CD 10 il 15 1] 23 23 8
CE 10 10 14 14 22 22 25
CJ 13 13 17 17 26 26 31
CcP 14 14 20 20 30 30 70
CT 28 28 40 40 60 60 130
PAI 35 36 48 48 69 69 139
PBI 29 29 41 41 61 61 131

S 46 52 65 T4 85 114 140
T 32.5 38 46.5 | 56.5 72 89 110

B-MB#J%| fl/Use for B-MB series

ET

-

B-MBUZEJ%|f/Use for B-MBU series

EB

Lee.|

FF&1S0 15552%r#
1SO 15552 STANDARD

Fr i BB —S1Z 4]

STANDARD CYLINDER B-SI SERIES

BITEBI"

y,

3

2
"

&

B-SI ¢ 32— ¢ 200#% 2/Head

752/ (Symbol/Bore) | 32 100 | 125
EB 74 182 210
EC 49 136 163
ED g2 38 46.5 56.5 72 89 110
EE 50 63 75 90 110 132 160
EG 12 117 17 20 20 25 25
EE 12 16 16 20 20 25 25
ET: 1574 22 22 28 34 40 45
B-TC-M%!/B-TC-M Type
B-MBU#EJI f/Use for B-MBU series B-TC-M#E¥H|f/Use for B-TC-M series B-MB#EJ%|f/Use for B-MB series
HQ HR
Ha HD OHC HQ HA
i
L o
e s ]
el AT e A—pHP |
_i z Py %&t‘/ _+_ 2
| i e T Bl =
bord 1 ! e = ' el T y ¥
e e B e | & 1
| HA -
e 32 40 50 63 80 100 | 125 e 32 40 50 63 80 100 125
(Symbol/Bore) (Symbol/Bore)
HA 63 80 80 100 | 100 | 120 | 145 HJ i 45 45 60 60 75 85
HB 45 60 60 70 70 90 105 HQ 12 17 17 20 20 25 25
HD 12 16 16 20 20 25 25 HR 0 1 1 1 1 1 1
HE 74 96 107 | 130 | 150 | 180 | 210 HT 10 12 12 14 14 17 25
HF 62 79 91 110 | 130 | 155 | 185 HE 7 9 9 11 11 14 18
HI 60 74 80 103 | 115 | 143 | 166

29 <<<<<<<< www.btbjx.com for More Products

#4&/Spe. £ £/Code A B E F G H
¢ 32 47 225 ¢ 30 52 19 275
¢ 40 53 38 $ 35 58.5 21 32
¢ 50 65 46.5 $ 40 66.5 27 31
$ 63 75 56.5 $ 45 69 I 33
¢ 80 95 T ¢ 45 81.5 33 S
$100 115 89 $ 55 85 36 37
¢ 125 140 110 $ 60 100 40 45
$ 160 180 140 $ 65 120 55 50
$200 220 1170 $75 131 67 50
B E['.H- 1[!1!5»]6’5/Ku Ordering Code
sI - |50‘ - l H l - l # ‘- l S ‘ #: Do32-01255 R L EREU,
©160- 02005 iR B 4 B 2DRP,
‘ ‘ HERS/ HERE/ @ # KB M ERR K200,
Tube Code Magnet Code Remark :
HL{%/Bore BHEMR/ . SEES =t N1 1/@32- @125 high temperature anti dust wiper,
®32-0200 Gasket Material Blank:Round tube BIank:Withoutmagnet @ 160~ ® 250 high temperature anti dust wiper.
ZR:TPU @ #*ﬁ!ﬁ S HEER 2/ # mickey mouse tube maximurm diameter 200.
Blank:TPU e e SWith
@ H:FKM #:mickey mouse tube Wit magnet
N:NBR

www.btbjx.com for More Products >>>>>>>>3(0



BITEBI"

Bl b5 e/ Standard type

br i 7 LB — S14 %

STANDARD CYLINDER B-SI SERIES

L

31 <<<<<<<< www.btbjx.com for More Products

tie rod

fF&1S0 155524r#
ISO 15552 STANDARD

FF&1S0 15552%r#
1SO 15552 STANDARD

Fr i BB —S1Z 4]

STANDARD CYLINDER B-SI SERIES

BITEBI"

E |3|;] %B?k *"’Jﬁiﬁﬂ‘;ﬂ‘*jﬁ/lnner structure and material list for main parts

1 2 I 5 6 7 8 9 0 11 12 13 14 15 16 14 8 9 6 5 17 18
| iy
— < ANNN\¢ A
1 T s 4
| N | Ee—
19 — — = = —— — —— —
\u
FS| &% FS| &} '
No [Name Material No | Name Material
& EAT IR B 11 | EE &g
Nut for piston rod Carbon steel Tube Aluminium alloy
B <& [ 2 HEE
£ Anti dust seals PU 12 ;Diston Aluﬁ'\inium alloy
3 | MEMEAS | 43 | BEB on
Qil bearing Sinterized bronze O-ring for piston and piston rod
IR AEE mEE
2 Front cover Alu?ninim alloy 14 ;°iston ring NBR
5 |$tE 594 15 | W SR
Air cushioning screw H59 brass Magnet Ferrite
6 |ffEOZE NBR 16 | FMEAW POM
O-ring for air cushioning screw Wearing ring
7 |$tAER 4 5 4 17 | EEEERIE B
Snap ring for air cushion hole screw | Spring steel Nut for piston and piston rod fixed | Carbon steel
22 i [ Bik= &
R Cl:shioning | NBR 18 Back cover Alu=||1'|inium alloy
9 EREOR!E NBR 19 RLAT I 22 Tk £
O-ring for front cover Tie-rod nuts & screw Carbon steel
Piston rod Carbon steel Tie-rod Carbon steel
ﬁif‘j‘ﬂ‘/Packing and O—-Ring List
& Fy 4 @ Z HEORME BEIR EEE WwoE | 2MORME
item Rod packing |Cushion packing |End cover O_H'mgl Magnetic Ring Piston Piston O-Ring |Cushion O-Ring
HR &= No. 1 2 2 2 2 1 2
Bore size mm
¢ 32 BEU-1219 | BPP-1622 $32% 2 $28:% ¢ 16345 B-QZ8-3224 o12% ¢2 | 8 1.5
¢ 40 BEU-1626 | BPP-2028 $40% ¢ 2 $36:% ¢ 2035 B-QZ8-4032 $16% 2.4 $8% 1.5
$ 50 BEU-2030| BPP-2837 $50% ¢ 2 $ 46 ¢ 22345 B-QGP-5042 $20% 2.4 $8% 1.5
$63 BEU-2030| BPP-2837 $63% ¢ 2 $ 59:% ¢ 4035 B-QGP-6353 $20% 2.4 $8x 1.5
¢ 80 BEU-2535| BPP-3545 ¢80 $2 ¢ 76:% ¢ 585 B-QGP-8070 $25% 2.4 $8x 1.5
¢ 100 BEU-2535| BPP-3545 | ¢ 1003 ¢ 2 $96% ¢ 7735 B-QGP-10090 $25% 2.4 $8x 1.5
¢ 125 BEU-3242 | BPP-4050 (¢ 125% ¢ 3.5 ¢ 120:% ¢ 96:%6 B-QGP ¢ 113:%7 |¢32% $3.1| $12% $1.5
BEU-4050
¢ 160 BB3-4048 BPP-5060 | ¢ 1603 ¢4 | o 155 ¢ 131.5%6| B-QGP ¢ 145:%9.5 | $40% ¢3.1| p12% ¢ 1.5
BEU-4050 . . 5
¢ 200 BB3-4048 BPP-5060 | $200% ¢4 | ¢ 195% $172:%6 |B-QZ8$ 1803 ¢ B8.5|p40% ¢3.1| p12% ¢ 1.5

www.btbjx.com for More Products >>>>>>>>32



BITEBL B/ UHB-SIRM  poco coume bk’ (hiB-sc#s  BITEBL

STANDARD CYLINDER B-SI SERIES ISO 15552 STANDARD STANDARD CYLINDER B—-SC SERIES

(® | 9b*|.ﬂ$ﬂ4§/0verall dimension

Os AHTHE (Travel) K
B-SI ar B CHTHE (Travel)
. E F 6 2-Shige Gl
[ A H - /{Air cushioning ser
Y | (& ] ) |
(AN : & e
W 3| = o
\Y ] ,
o UL S 2
w —
s AT (Side)
8L/ N [Q Q[N
rB—SI—) AHTE (Travel) X2
B CHTTRE (Travel) BT (Travel)
. ﬂ-ﬂ}ﬁﬂg (air coshioning screw) B2 (Travel)

: .
| ﬁ @I @ } [ ﬁ 1 B-SC ¢ 32— ¢ 250i# %&/Head

{ @ ﬂﬁISN%ICode A B E F G H
$32 45 33 ¢ 28 48.5 15 27.5
$ 40 50 T ¢ 32 48.5 15 27.5
12/ L (Bore/Symbol)] A | A, |B| C | D | E | F G | H | I d ] K L N
32 142 [ 190 |48 | 94 [ 30 [ 29 |19 | 27 [22 [ 17 | 6 |[M10x1.25| M6 | 13 $00 - il o8 s 18 218
40 7ot e e e 0 | et e il | e fo i ety 31 24 |17 | 7 |M12x1.25/ M6 17 $ 63 75 56 ¢ 38 48 .5 15 27.5
50 175 | 244 |69 | 106 | 40 | 42 |27 | 31 [ 32 |23 | 8 |[Mi16x1.5| M8 | 155
63 190 | 250 |69 | 121 | 45 | 42 | 27 | 33 |32 |23 | 8 |Mi6x1.5| M8 | 16.5 ¢80 94 70 ¢ 47 60 21 33
80 214 (300 |86 | 128 | 45 | 53 |33 | 33 | 40 | 26 | 10 [M20x1.5|M10| 16.5 $100 112 84 647 60 1 33
100 229 (320 | 91| 138 | 55 | 55 | 36 | 37 | 40 | 26 | 10 [M20x1.5| M10| 18.5
125 279 | 398 [119| 160 | 60 | 79 | 40 | 45 | 54 | 41 |13.5 | M27x2 | M12| 23 $ 125 138 104 $ 52 64.5 20 38
160 332 | 484 (152|180 | 65 | 94 |55 | 50 | 72 | 55 | 18 | M36x2 | M16| 25 $160 o 184 462 e e -
200 347 | 514 (167|180 | 75 | 100 | 67 | 50 | 72 |55 | 18 | M36x2 | M16| 25 :
$200 214 163 $62 70.5 30 38
$ 250 267 202 86 93 35 48
M72/#% S (Bore/Symbol)] O P Q R S T Vv W X Y g
32 G1/8 5.5 6 6 47 32.5 12 10 3 30 B A {7k T W/ Kie Ordering Code
40 G1/4 6 7.5 8.5 53 38 16 13 3.5 35
50 G1/4 | 7.5 6.5 9.5 65 46.5 20 17 3.5 40 SC‘ c ‘_ ‘50‘ _ ‘ H ‘ _ l# _[s % R
63 G3/8 7.5 7.5 11.5 75 56.5 20 17 4 45 ] 2 SCEZREUR 4 R T
- 1
80 G3/8 9 7.5 13.5 95 72 25 oo 4 45 I ©32-0100,
100 G1/2 9.5 8.5 13.5 115 89 25 22 4 55 [ HERS/ Magfm ::de 34 RRWEFEE X100,
125 G1/2 | 14 12 14 140 | 110 32 27 4 60 2 [:DRP §1%/Bore EHEH R/ ;‘;f*g%de o R Remark:
160 G3/4 15 12 15 180 140 40 36 4 65 Blank:DRP (@ ®32-9250 Gasket Material . 'k‘R" i Blank:Without magnet . & 200 @250 owpressure casting.
. 2 9:NBR ank:nound tube ) 2/ SCE Available for ©32~® 100 only
200 G3/4 15 12 20 220 175 40 36 5 75 RN = @ #:*&ﬁﬁ S:HtELR 3 # mickey mouse maximum diameter
ERpohen #:mickey mouse tube S:With magnet 100
@ H:FKM : :

33 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>34



BITEBI"

n fﬂ%i‘ﬂ:' K /Standard type

Fr "L HIB-SC A %

STANDARD CYLINDER B-SC SERIES

35 <<<<<<<< www.btbjx.com for More Products

b "L ELB—SC & %

STANDARD CYLINDER B—-SC SERIES

=)

BITEBI

n m %IS%MI'LJ;E‘EEH-H ]ﬁ/lnner structure and material list for main parts
P

1 2 3 4 5 6 89 01 12 13 14 15 16 (] T 6 5 1T 18
Y =
4 L T s e M TR 2 N
1 N
m— N
2
o/ s/
S| &R FS| &AW R
No Name Material No Name Material
1 | EEFFRE (73] 11 | EE AE &
Mut for piston rod Carbon steel Tube Aluminium alloy
B = EEFFORE
2 Anti dust seals il 12 O-ring for piston rod NBR
5 | BB WEHEAS 13| EE BEE
Oil bearing Sinterized bronze Piston Aluminium alloy
AR 2 BAEE iE 2
“ Front cover Aluminim alloy b Piston ring NBR
s | @ w5 15 | % SRk
Air cushioning screw Brass Magnet Ferrite
$HROR S@w
6 O-ring for air cushioning screw NBR 8 Wearing ring POM
S | sEEm W 17| REEE®Z B
Snap ring for air cushion hole screw Spring steel Piston fixing screw Carbon steel
Cushioning seals Back cover Aluminium alloy
9 HEORME NBR 19 HLAT 4208
O-ring for front cover Tie—rod nuts & screw Carbon steel
10 | BEA wH o0 | HFF
Piston rod Carbon steel Tie rod Carbon steel

a =i_fiﬁ*‘ifj“lili/Packing and O—Ring List— . {§ %¢/Single ring piston

i f 2 BEORE B3R BEER o0 B 2 ORI [E
Itemn Rod packing | Cushion packing | End cover O-Ring Magnetic Ring Single ring piston | Piston O-Ring| Cushion O-Ring
Bore size mgriiNo L : = - 1 1 =

¢ 32 BDRP-12 BPP-1622 $32:% 2 $ 31.5% ¢ 24.5:%5| B-COP-32 $12% ¢ 2 8% ¢ 1.5
¢ 40 BDRP-16 BPP-2028 ¢ 403 2 $ 39.53% ¢ 25:%5 B-COP-40 | ¢ 163 ¢ 2.4 8% ¢ 15
¢ 50 BDRP-20 BPP-2837 $50:% $2 $ 49.5% ¢ 353%5 B-COP-50 | $20:% ¢2.4 8% ¢ 1.5
¢ 63 BDRP-20 BPP-2837 $63:% $2 $ 62.5% ¢ 4835 B-COP-63 | ¢20#% ¢ 2.4 $8% 1.5
¢ 80 BDRP-25 BPP-3545 ¢80 2 $ 79.5% ¢ 65:%5 B-COP-80 | ¢25:#% ¢ 2.4 8% 1.5
$ 100 BDRP-25 BPP-3545 ¢ 1003% ¢ 2 $99.53% ¢ 85:%5 | B-COP-100 | $25:#% ¢2.4 $B8X% 1.5
$125 BDRP-32 BPP-4050 $125% ¢2.4 | ¢ 120% ¢ 96:%6 | B-COP-125 | ¢ 32:% ¢ 3.1 $12:#% $1.5
$ 160 BDRP-40 BPP-5060 & 1603 $ 3.1 |$ 1553 ¢ 131.5%6| B-COP-160 | ¢ 403 ¢ 3.1 $12:#% $1.5
$ 200 BDRP-40 BPP-5060 & 2003 $ 3.1 | $ 1953 ¢ 17236 | B-COP-200 | ¢ 403 ¢ 3.1 $12% $1.5
$ 250 BDRP-50 BPP-5774 & 2503 $ 3.1 | $2453% ¢$222:#6 | B-COP-250 | ¢ 503% ¢ 3.1 $16:% $1.5

@) ?E‘ﬂﬂ‘/Packing and O—Ring List— W & {§ %€/ Double ring piston

Hig B B e HEOREA B ER WiEEE gy ) 2 h0RI[E
Itemn Rod packing | Cushion packing | End cover O-Ring Magnetic Ring | Double ring piston |Piston O-Ring| Cushion O-Ring
2 BNo. 1 2 2 2 2 1 2
Bore size mm
¢ 50 BDRP-20 BPP-2837 $50:% $2 G463 ¢ 2235 B-QZ8-5042 $20:% ¢ 24 $8% 1.5
$ 63 BDRP-20 BPP-2837 $63% 2 ¢ 593 ¢ 4035 B-QZ8-6353 $20% ¢ 24 $8#% 1.5
¢ 80 BDRP-25 BPP-3545 ¢ 80 ¢ 2 ¢ 763 ¢ 5835 B-QZ8-8070 ¢25% ¢ 24 $8#% 1.5
$100 BDRP-25 BPP-3545 ¢ 1003 ¢ 2 & 96:% ¢ 7735 | B-QZ8-10090 $25% ¢ 24 $8#% 1.5

www.btbjx.com for More Products >>>>>>>>36



BITEBIT  hift " {GB-SCH I bl iB-sc@s ~ BITEBI

STANDARD CYLINDER B-SC SERIES STANDARD CYLINDER B—-SC SERIES

B &P E/ Mounting kits

n Sk 7IEKTJ‘/Basic specification B-LBE! R <1/B-LB Size
L$32~¢100 va\m_:,” : HSmE 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200 | 250
DS & S -@ ._ A—QAP I @ '(SymbOIfBore) - - s ] - o= " 2 i = 2
o7 E F 6 6 — I o AA 152 | 169 | 173 | 184 | 200 | 210 | 221 | 246 | 276 | 323
L ! - - 20 - - $/‘ | AN AC 134 | 140 | 149 | 158 | 168 | 174 | 185 | 206 | 226 | 273
& BN 3939999999 e W _______ AD 95 (14512 | 13| 16 | 18 [ 18 | 20 | 25 | 25
?Q | % g I AE 50 | 57 | 68 | 80 | 97 | 112|138 | 174 | 214 | 267
/ ?%\ D || . lt‘mmm T ﬁ 5] % AF 33 | 36 | 47 | 56 | 70 | 84 |104 | 134 | 163 | 201
WV Wy =TT -8 Y i
S ; s | e AG 20.5(23.5| 28 | 31 | 30 | 30 |35 | 40 [ 50 | 60
_J@.E " 4 o AH 28 | 30 |365| 41 | 49 | 57 | 70 | 91 [113.5| 141
: g B AC+78 (Travel) AP 9 |12 |12 | 12| 14 | 14 |17 | 17| 22 | 26
AT (Side) el 2-4EPIREE (Air cushioning screw) el AAHFTER (Travel) AT 3 3 3 3 4 4 6 8 9 15
a L’é*ﬂﬂ‘/Basic specification
ArTHE (Travel ) x2
B CH{THE (Travel) B+{TH (Travel)
E? L %% P S i B-FARIR/B-FA Size B s 63 | 80 | 100 | 125 | 160 | 200 | 250
1 . H B-FB&! R~ /B-FB Size (Symbol/Bore)
T 7 I Tl o B gy e . BA 28.3 |32.3(38.3 | 38.3| 47.3 | 47.5(52.5 | 62.5|62.5 | 86.5
Eﬂﬁ;:«\ 7 ol — BE . BB 10 | 10 | 10 | 12| 16 | 16 [ 20 | 20 | 25 | 25
% = = _@;ﬂ“ | 5 ‘f =i a BC 47 | 52 | 65 | 76 | 95 | 115 140 | 177 | 217 | 270
\\\\Ef%/} f o / " S Ty BD 33 | 36 | 47 | 56 | 70 | 84 [104 | 134 | 163 | 201
e — © ®© = BE 72 | 84 | 104 | 116 | 143 | 162 | 196 | 248 | 286 | 356
e T L N ry i) K al g il S E[ BF 58 | 70 | 86 | 98 | 119| 138 | 168 | 212 | 250 | 312
&j i BH 65 | 6.5 | 6.5 | 85|10.5|10.5(12.5 | 16.5|16.5 | 20.5
REAE (BorelSymbol] Al A T B [c D [ E[F G [ A1 [ J ” 5 ® ® Q) H AJ 10.5 | 10.5(10.5 | 13.5]16.5[16.5 19 | 25 | 25 | 31
32 140|187 | 47 | 93 | 28 | 32 | 15 [275| 22| 17 | 6 [M10x1.25] M6x1 sae / AK 65 | 65|65 | 85|10.5]10.5/12.5 | 16.5|16.5|20.5
40 142|191 | 49 | 93 | 32 | 34 | 15 |275] 24| 17 | 7 [M12x1.25] Mex1 BP 7 | | s 9 | 11| 11 |14 | 18 | 18 | 22
50 150207 b7 93 38 42 16 |27.5| 32 | 23 8 M16x1.5 M6 x 1 T 33 37 | 47 56 | 70 84 | 104 | 134 | 163 | 202
63 153|210 | 57 | 96 | 38 | 42 | 15 [275] 32| 23 | 8 |[M16x1.5| M8x1.25
80 183|258 | 75 |108| 47 | 54 | 21 | 33 | 40| 26 | 10 | M20x1.5| M10x 1.5
100 189|264 | 75 | 114 47 | 54 | 21 [ 33 | 40| 26 | 10 | M20x1.5] M10x1.5
125 203|291 | 88 [115| 52 | 68 | 20 | 38 | 54 | 41 |13.5| M27x2.0 |M12x1.75
160 239|352 | 113 |126| 62 | 88 | 25 | 38 | 72| 55 | 18 | M36x2.0| M16x2.0
200 244|362 | 118 | 126 62 | 88 | 30 | 38 | 72| 55 | 18 | M36x2.0| M16x2.0 B-CAZ! R~f/B-CA Size
250 294|435 | 141 [153| 86 | 106 | 35 | 48 | 84 [ 65 | 21 | M42x2.0 | M20x 2.5 "eInNE a2 | 40 | 50 | 63 | 86 | 100 | 125 | 160 | 200 | 250
RN 12/ = ( Bore/Symbol ) N (o] P Q R S T Vv W (Symbol/Bore)
32 13.7 G1/8 35 75 5 45 33 12 10 s 48 | 50 | 62 | 75 | 94 | 112|138 | 173 | 213 | 255
40 13.5 G1/4 6 8.2 9 50 37 16 14 T 33 | 37 | 47 | 56 | 70 | 84 | 104 | 134 | 163 | 202
50 13.5 G1/4 8.5 8.2 9 62 47 20 17 DC 34 | 34 | 34 | 34 | 48 | 48 | 32 | 40 | 60 | 70
63 13.5 G3/8 7 8.2 8.5 75 56 20 17 DD 14 | 14 | 15 | 156 | 20 | 20 | 20 | 28 | 30 | 36
22 Lo Sl i 22 L s Z == e DE 12 |14 |14 | 14| 20 | 20 | 20 | 28 | 28 | 36
100 16.5 Gi/2 11 9.5 14 112 84 25 22
e 19 G1/2 10 5 20 138 104 32 o7 DJ 24 | 24 | 24 | 24 | 34 | 34 | 15 |205| 37 | 46
160 19 G3/4 15 6 15 174 134 40 36 DQ 16 | 20 | 20 | 20 | 32 | 32 [31.7[39.7|39.7 | 49.7
200 19 G3/4 15 3 15 214 163 40 36
250 25.5 G1 20 7.5 20 267 202 50 46

37 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>38



BITEBI"

br BB -SC A %

STANDARD CYLINDER B-SC SERIES

B 2 E/ Mounting kits

B-CBE/ R~/B-CB

CcC

Size HEINE
- os .. | (Symbol/Hore) 32 | 40 | 50 | 63 | 80 | 100|125 | 160 | 200 | 250
LiT ce 19 | 19 | 19 | 19 | 32 | 32 | 32 | 40 | 60 | 70
eI cD 5 5 3 3 8 8 | 10
g, CE 12 | 14 | 14 14 | 20 | 20 | 20 | 28 | 28 | 36
5 cJ 11 11 11 11 | 21 | 21| 18 | 25 | 37 | 48
Sl CcP 16.3 | 20.3|20.3 | 20.3|32.3| 32.3|32.1 | 40.1| 40.1 | 50.1
- Gl 32 | 44 | 52 | 52 | 64 | 64 | 64 | 80 | 80 | 100
m PAI 41 |51.8|60.3 | 60.3|73.8|73.8| 73 |90.2/90.2| 130
PBI 33.5|455| 54 | 54 |65.5|65.5|64.8 | 80.8|80.8| 108
T @ S 48 | 50 | 62 | 75 | 94 | 112|138 | 174 | 214 | 267
i 33 | 37 | 47 | 56 | 70 | 84 | 104 | 134 | 163 | 202
B-SC#&FIH/Use for B-SC series B-SCIIEF|H/Use for B-SCll series
EB EB
EE EG EE) £
]
/<
K {2/45S(Bore/Symbol) | EB EC ED EE EG EP ET
40 113 | 63 37 63 25 25 30
50 126 | 76 47 76 25 25 30
63 138 | 88 56 88 25 25 30
80 164 | 114 70 114 25 25 35
100 182 | 132 84 132 25 25 38
125 208 | 158 | 104 | 158 25 25 40
160 272 | 200 | 134 | 200 36 36 46
200 318 | 246 | 163 | 246 36 36 46
250 394 | 304 | 202 | 304 45 45 56

B-TC-M%!/B-TC-M Type
B-SCIIE 5| H/Use for SCll series

HO
OHC -
—_—

HA

[

B-TC-M#&EJF|H/Use for B-TC-M series

HD
F—

B-SCHEJ|f/Use for B-SC series

HO HR
HC - .

1 . \
=] PR
B\ = & AR
!____ ____J] . - 4—HP
L \'\ 2 o i %%% \\ i
AT 4 B l i L 2
i v lE EiE B ]
| _]_ } ‘ - | [
L . — i
K12/ 2 (Bore/Symbol) | HA HB HE HF HJ HQ HR HT HP
40 110 80 109 86 50 29 2 12 12
50 110 80 122 99 50 23 2 il 2 12
63 110 80 134 Tkl 50 25 2 12 12
80 120 85 160 137 70 23 2 14 14
100 120 B85 178 155 70 25 2 14 14
125 145 105 211 183 85 23 2 20 18
160 185 140 272 236 130 34 2 25 22
200 185 140 318 282 130 34 2 25 22
250 215 165 394 349 160 43 2 28 26

39 <<<<<<<< www.btbjx.com for More Products

n f‘: ﬂ:ﬁﬁ Tie rod screw

PLAFSRWE 5P B R

TIE BOLT EXTERNAL DIMENSIOMS

BITEBI"

2|5 =
¢ ¥ é
i
e ol A|B| C| D EE F 1T R/ Hi#/%
=0 Order code Weight(g)
M6 40| 6 | 225| 9 | M6x1.0 | 18 B-DNG/B-DNC/B-MB/B-S132/40 10.6
M8 44| 8 | 225 | 12 | MB8x1.25| 18 B-DNG/B-DNC/B-MB/B-SI50/63 19.3
M10 53| 10| 28 | 15 | M10x1.5| 21 B-DNG/B-DNC/B-MB/B-S180/100 35.1
M12 60| 12| 30 | 18 |M12x1.75| 25 B-DNG/B-DNC/B-MB/B-SI125 65.2
n ﬁ'.ﬁﬁ'b'ﬁ Tie rod nut
BEs 2
LiE Symbol A B D EE iT MR 75 BEER
Bore Order code Weight(g)
B-DNG/B-MB32/40
M8 &l 6 8 M6x1.0 | g gcapaos0B-Si3240 | 82
B-DNG/B-MB50/63
M8 21.5 8 12 M8 x 1.25 B-SC63/B-S150/63 11.2
B-DNG/B-MB80/100
M10 25 10 15 M10x1.5 B-SC/B-S180/100 20.1
M12 25 12 18 M12x1.75 B-MB125 29.5
M12 29 12 18 M12x1.75 | B-DNC/B-DNG/B-SI125| 34.2
M16 35 17 24 M16x2.0 B-DNG/B-S1160/200 67.5
n ‘R’.*Fﬂm Tie rod nut
= o,
o A D EE 1T LR &85
Bore Order code Weight(g)
M20 39 31 M20x 2.5 B-DNG250 141
M24 44 35 M24 x 3.0 B-DNG320 210.2

www.btbjx.com for More Products >>>>>>>>4(0



BITEBI" I

-l

LRI AN

TIE BOLT EXTERNAL DIMENSIOMS

NBEINI AN |

CYLINDER TUBE EXTERNAL DIMENSIOMS

-}‘_;}:ﬂ:Tie rod ﬂ i’ﬁ[fﬁi‘}ACylinder tube

wa -

o0

B B 1 =
il - A+ Travel | ?L& 1E‘?-.?mlml A B D E L ﬂlﬂﬂﬂﬂf Eif:r_ﬁ
E - Bare Order code nghi(kg)
©32 5.1 32 325 45 2500 B-DNC32 5.25
40 5.1 40 38 54 2500 B-DNC40 6.5
®50 6.7 50 46.5 64 2500 B-DNC50 115
63 6.7 63 56.5 75 2500 B-DNC63 13
80 8.7 80 72 93 2500 B-DNC80 19.25
100 8.7 100 89 110 2500 B—DNC100 26
e = = ®125 10.7 125 110 | 134 2500 B-DNC125 44.25
L&z ymbol B D EE L 1T 0 E8/ Eif:r_ﬁ
Bore DNG/SI | MB Order code Weight(kg)

32 67 60 | 15 | 53 | M6x1.0 2000 B_DNG/B-MB/B-SI32 03

40 78 60 | 15 | 53 | M6x1.0 2000 B-DNG/B-MB/B-SI140 0.3 5L Cylinder tube

®50 79 69 | 15 | 7 | M8x1.25 | 2000 B_DNG/B-MB/B-SI50 0.6

63 93 69 | 15 | 7 | M8Bx1.25 | 2000 B_DNG/B-MB/B-S163 0.6 -

80 96 84 | 15 | 9 | M10x1.5 | 2000 B—DNG/B-MB/B-SI80 1.0 3

©100 106 | 84 | 15 | 9 | Mi0xi1.5 | 2000 | B-DNG/B-MB/B-SI100 1.0

©125 120 | 88 | 20 |10.8 | Mi2x1.75 | 2000 | B-DNG/B—MB/B—SI125 1.7 ol

©160 140 20 |14.6| M16x2.0 | 2000 B-DNG/B-S1160 3.0

©200 140 20 |14.6 | Mi6x2.0 | 2000 B-DNG/B-SI200 3.0

©250 160 23 [18.2| M20x25 | 2000 B_DNG250 4.09

©320 170 23 |21.9| M24x3.0 | 2000 B_DNG320 5.92 ' - -

== | A TR R/ ERTE e ‘

ALE ~ gymool— B | D EE L Order code Weight(kg) AE gl A B D E L e Wie%ﬁkﬁg)
L S 15 1153 MEx iy Calel B-SCs2 0.3 32 5.2 32 325 36 2500 | B-MB/B-DNG/B-SI32 35
Hisd 68 Lasd Mox N 2000 BESCAY 03 ©40 52 40 38 i 2500 | B-MB/B_DNG/B-SI40 4.0
a5d 68 18 G Mo 1y 2000 B-SC50 0.6 ©50 6.8 50 465 55 2500 | B-MB/B-DNG/B-SI50 5.5
gnd 29 15| 7 Mixl 2y £ho0 et hd g ©63 6.8 63 565 | 68 2500 | B-MB/B_DNG/B-SI63 6.5
Hed iu i5 | 8 Mio= 1S il B-SC80 Lol 80 8.75 80 72 86 2500 | B-MB/B—DNG/B-SI80 9.75
o Ad 5] 9 Mi0x15 Ciaiil BeSEA00 Lo 100 8.75 100 89 106 2500 | B-MB/B_DNG/B—SI100 13.12
©125 9 IRE GO M 2 R Ut Btk 1.7 0125 135 | 125 110 | 13255 2000 | B-MB/B-DNG/B-SI125 12.3
G1ec ki S ) Sl Eosil iy 20 ©160 176 160 140 | 1685 2000 B-DNG/B-SI160 20.3
@ epu 84 IE] e B REIE - e =000 B=ta00 3.0 200 17.5 200 175 | 210 2000 B-DNG/B-SI200 28.8
©250 97 20 [18.2| M20x2.5 2000 B—SC250 4.09

41 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>42



RITRRE LRI E IO WIFAMEIF  BITEBI

CYLINDER TUBE EXTERNAL DIMENSIOMS ROD EXTERNAL DIMENSIOMS

n {ﬁ[i‘%Cylinder tube u iﬁ%ﬂ:Rod

A+ 18 Travel

MH.__ B

1]

‘ws

T E
L 3
ILE S B D L 17 Mg 4K A5/ BET=E Lz i A B c D E E H | w i 17 M 4K A5/ BEE/F=
o ook Order code Weight(kg) B b Order code | Weight(kg)
®32 32 37 2500 B-DNG/B-SC/B-SI32 1.87 ©32 117 | 12 [ M8 | 8 |Mi10x1.25| 22 | 32 |13.5| 10 |2000| B-DNC32 17
©40 40 45 2500 B-DNG/B-SC/B-S140 200 ©40 131.5] 16 |[M10| 10 | M12x1.25| 24 | 38 |13.5 | 13 |2000| B-DNC40 31
®50 50 55 2500 B-DNG/B-SC/B-SI50 25 ®50 147 | 20 [M12| 12 | M16x1.5 | 32 | 38 |13.5| 17 |2000| B-DNC50 4.9
63 63 68 2500 B-DNG/B-SC/B-S163 3.5 ©63 151 | 20 [M12| 12 | M16x1.5 | 32 | 48 |13.5| 17 |2000| B-DNC63 4.9
®80 80 86.4 2500 B-DNG/B-SC/B-SI80 5.5 ®80 180.5| 25 [M16| 16 | M20x1.5 | 40 | 46 |16.5 | 22 |2000| B-DNC80 7.7
®100 100 106 2500 B-DNG/B-SC/B-SI1100 6.37 ®100 198 | 25 [M16| 16 | M20x1.5 | 40 | 58 |[16.5| 22 |2000|B-DNC100 73
®125 125 132.5 2500 B-DNG/B-SC/B-SI125 11.5 ®125 |235.5| 32 [M16| 16 | M27x2.0 | 54 | 52 | 24 | 27 |2000|B-DNC125 12.5
®160 160 170 2500 B-DNG/B-SC/B-S1160 17
®200 200 210 2500 B-DNG/B-SC/B-S1200 23.75
®250 250 262 2000 B-DNG/B-SC250 25.4
©320 320 336 2000 B-DNG320 42.5 B i% % rod
A+ 78 Travel

LT 28
=3
ag~No . alBlc|D £ FIH | | |w | L |JHERE | E&Fw
= ymbol Order code | Weight(kg)
e s A B D E E L T AL A/ BE/TE 32 117 | 12 | M8 | 8 |M10x1.25| 22 | 32 [13.5| 10 |2000| B-DNG32 15
Hote Order code Weight(kg) ®40 [131.5] 16 |[M10| 10 |M12x1.25| 24 | 38 [13.5| 13 |2000| B-DNG40 3.1
o012 36 12 16 o973 16 2000 B-ADN12 1.88 ®50 147 | 20 |M12 | 12 M16x 1.5 32 | 38 |13.5| 17 |2000| B-DNG50 4.9
D16 3.6 16 18 28.8 18 2000 B-ADN16 1.9 D63 161 20 |M12 | 12 M16x1.5 32 | 48 |13.5| 17 |2000| B-DNG63 4.9
©20 4.6 20 20 953 20 2000 B-ADN20 267 ®80 180.5| 25 | M16 | 16 M20x 1.5 40 | 46 |16.5 | 22 |2000| B-DNG80 T 7
»25 4.6 25 26 39.3 25 2000 B-ADN25 2.96 ®100 198 | 25 |M16 | 16 M20x 1.5 40 | 58 |16.5 | 22 |2000|B-DNG100 T
©32 3.6 32 38 47.3 17 2000 B-ADN32 32 ®125 235.5| 32 |M16 | 16 M27 x 2.0 54 | 52 | 24 | 27 |2000|B-DNG125 125
040 4.6 40 45 56.3 | 21 2000 B-ADN40 4.67 ®160 H4E 5 £S1160/S1200
©50 1543 50 54 66.3 27 2000 B-ADN50 6.0 ®©200
D63 5.5 63 66 79.3 a7 2000 B-ADNG63 7.0 ®250 336 50 | M30 | 30 M42x1.5 84 | 68 28 46 |2000|B-DNG250 30.6
»80 7 80 84 99.8 47 2000 B-ADNSO o ®320 382 | 63 | M36| 36 M48x2.0 96 | 86 | 28 | 55 |[2000|B-DNG320 48.6
©100 8.1 100 101 | 119.8| 60 2000 B-ADN100 15.2

43 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>44



BITEBIT  SEIEhEIME I o WIARFMEIC  BITEBI

ROD EXTERNAL DIMENSIOMS ROD EXTERNAL DIMENSIOMS

n ﬁ'l:gﬂ:Rod n fﬁrjﬁﬂ:Rod

A+fTHE Travel

7224 '
P [ | P, | - S| N ——51-: - /
7

- P
SLQ

\

W
Wi
- TR | BRTFE
LE bo| A B C D E E HIP|l Q| W 1= p
e Order code |Weight(kg)
32 82 | 12 | M6 | 9.6 | M10x1.25|22 | 15| 3 | 1.8 | 10 | 2000| B-SI32 iy
40 93.5| 16 | M8 |12.7 | M12x1.25| 24 | 20| 3 | 2.2 | 13 | 2000| B-SI40 3.1 20458 Travel
®50  |107.5] 20 |M10| 16 | M16x1.5 |32 | 20| 3| 2.6 | 17 | 2000| B-SI50 4.9 e =
®63  [109.5] 20 |M10| 16 | M16x1.5 |32 | 20| 3 | 2.6 | 17 | 2000| B-SI63 4.9 | i
80 127 | 25 |[M12| 21 | M20x1.5 |40 | 25| 3 | 2.6 | 22 | 2000| B-SI80 7.7 Y s ! Al
©100 | 136 | 25 |M12| 21 | M20x1.5 | 40 | 25| 3 | 2.6 | 22 | 2000 | B-SI100 77 2
®©125 | 182 | 32 |M16 |32.8 | M27x2.0 | 54 | 35| 4 | 3.5 | 27 | 2000 | B-SI125 12.5 Eg]— s
®160 | 217 | 40 | M20 |32.8 | M36x2.0 | 72 | 35| 4 | 3.5 | 36 | 2000 | B-SI160 | 19.5 s
©200 | 231 | 40 | M20 |34.8 | M36x2.0 | 72 | 35| 4 | 3.5 | 36 | 2000 | B-SI1200 19.5 -%{D/////l W
B 5 % FrRod
A+THE Travel LI+ Travel
H
y F H A
2225 v e A
" | EE—— S | K ——— ——ﬂn ‘, 3
L = !
M5
*b |
W
Wi
- : TWRE | BERTE
i TR | ER/FR ) | e . Order code | Weight(kg)
iz bo[ A B Cc D E FlHIPLQ W L Ordercode (Weight(kg)
Bore gntikg 032 12 |21 |16 | 8 | 19|12 | 3 |M8 | M8| 43 | 10 | 2000 | B-ADN32 1.7
32 805 12 | M6 | 9.6 | M10x1.25| 22 | 15| 3 | 1.8 | 10 | 2000 | B-SC32 i R e T T e A E T 5000~ EEADNAE T
40 82.5| 16 | M8 |12.7 | M12x1.25| 24 | 20| 3 | 2.2 | 13 | 2000 | B-SC40 3.1 S0 o T e Eere e e e S ET P P R BT T S T -
@50 | SO 20 MG LG MGl 60 32 |20 L a 2.6 i 2] 2000 B-Stey i 063 16 | 27 |20 | 10 | 22 | 12 | 4 |M10|M10|50.5| 14 | 2000 | B-ADN63 31
63 90.5| 20 |M10| 16 | M16x1.5 |32 | 20| 3 | 2.6 | 17 | 2000 | B-SC63 4.9 80 20 | 29 |20 | 10| 28 | 12 | 4 |M14|M12| 65 | 17 | 2000 | B-ADNB8O 4.9
kil S e B - B s S S e B e s B e B e el i i ©100 |20 |32 | 20 | 10| 28 | 12 | 4 |M14|M12[63.5| 17 | 2000 | B-ADN100| 4.9
©100 | 114 | 25 |[M12| 21 | M20x1.5 | 40 | 25| 3 | 2.6 | 22 | 2000 | B-SC100 | 7.7
®125 |[132.5] 32 |M16 |32.8 | M27x2.0 | 54 | 35| 4 | 3.5 | 27 | 2000 | B-SC125 | 12.5
©160 |158.5] 40 | M20 |34.8 | M36x2.0 | 72 | 35| 4 | 3.5 | 36 | 2000 | B-SC160 | 19.5
©200 |163.5] 40 | M20 |34.8 | M36x2.0 | 72 | 40| 4 | 3.5 | 36 | 2000 | B-SC200 | 19.5
©250 | 199 | 50 | M24 |44.8 | M42x2.0 | 84 | 40| 4 | 3.5 | 46 | 2000 | B-SC250 | 30.6

45 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>> 46



BITEBI® Sl 30 o

CYLINDER COVER KITS

|SO155652 STANDARD
In Accordance with 6431
Spec:32Zmm-~125mm

DNG

|SO15552 STANDARD
In Accordance with 6431
Spec:32mm~320mm

MB

ISO155652 STANDARD
In Accordance with 6431
Spec:32Zmm-~125mm

Sl

|SO15652 STANDARD
In Accordance with 6431
Spec:32mm-~200mm

AIRTAC STANDARD
In Accordance with 6430
Spec:32Zmm-~160mm

47 <<<<<<<< www.btbjx.com for More Products

SCHLACAF

CYLINDER KITS

B.FPU/Assembling Part PU

Bij 7> R % 21

Anti dust seals Piston ring

BCFNBR/Assembling Part NBR

00

0
OO

Bij 74 R i %1

Anti dust seals Piston ring

X HHE/Common Part

SO

FREON P Sk
O-ring for front cover Wearing ring

O %

fi £ Bis 9 i3
Magnet Protective cover

BITEBI"

%l 1

Cushioning seals

%0l 1

Cushioning seals

@,
O ©

il

O-ring for piston and piston rod

Bk VT G
Magnetic sensor
www.btbjx.com for More Products >>>>>>>>48



BITEBI® 2B RRAE NG BITER|®

CYLINDER KITS CNC UNCLAMPING CYLINDER

A& /Hareware Part

! 2
i
A
4-411
BAEE
oparator fixing hole 84 '
i WL 7L
i PT-1/8
filling—hale
N ST

150 microswiteh
!
' 32
L 140 i i

. "
i FF U8 22 ]
Tie—rod screw Air cushioning screw > /Product Specification
##% specification 2T | 3.5T | 4.5T 6T
h{EA N action type SE. HEHME pneumatic and hydraulic, all double action
T 1E4v /& work medium 2 =B g is A B A [E 4 =S compressed air filtered by F.R.L. combination

S L@} /E operation pressure range 1.0MPa
T {EiR & T available temperature -5-60
#EE 04 port size PT3/8
0.6MPaT i 71 output force under 0.6Mpa 2T 3.5T 4.5T 6T
° E&(Kg) kilogram

M| 2.0TxST13 2.0TxST15 2.0TxST17 | 2.5TxST13 2.5TxST15 2.5Tx8T17 3.0TxST13 | 3.0TxST15 3.0TxST17
A 98 108 118 112 123 131 130 146 162

L 339 349 359 353 365 372 371 387 403
#Mig| 3.5TxST13 3.5TxST15 3.5TxST17 | 4.5TxST13 | 4.5TxST15 | 4.5TxS8ST17 6T xST15 6TxST18

A 130 146 162 157 177 196 222 260

L 3n 395 411 398 418 437 519 Bl

Ul/Model instruction

15 % 18] 32 Wi & iih iR

Nut for piston and piston rod fixed Oil bearing DNPM 25T 50X13 A [] [] R
dﬁl%ﬂi?ﬁ“ Microswitch
model specification

¢ ” (4T 71 &) ZEH: DRI

N T AN - Blank:D without micreswitch
(ot

=] = L:24 i sh 7 2%
1 g J B 25T. ﬁiH:lE 5 L:2 microswitch

“?"1: 4] ] 25T: D.costlng forca 2.5T

- 3| T 35T HjH3.5M ﬁ—%?‘iit

) g | 35T:boosting force 3.5T electrical

\ [ — 45T Hidi4. 56 connection mode
e | LT 45T boosting force 4.5T
g i T L 5T 24T 14T 12

65T UiHi6n A: AC220V

\ 65T :boosting force 6T B: DC24V
] :
Eioiirat s 3 fik C: AC110V
raulic cylinaer bore size X stroke
. : . E: AC24V
50x13: MEHE 050, {T##13mm
50x13:Hydraulic cylinder bore size @50, stroke 13mm F: DC12V

50x15: JMEI&EI{E ©50, fT#E15mm

et . & =1 50x15:Hydraulic cylinder bore size_w 50, stroke 15mm

ffﬂi%'ll‘ﬁ ﬁjxﬂ:!gﬂﬂ 50x17: MEHE 050, 175817mm

2 i 50x17:Hydraulic cylinder bore size @ 50, stroke 17mm
Tie—rod nuts Nut for piston rod

49 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>5(



® ®
BITEBI CNC%EIB‘[ BITEBI

CNC BOOSTING CYLINDER

BT RAELERT)

Mounting dimensions:

Base Mounting dimensions CNC3#T71#I%/CNC Unclamping Cylinder Cover
% #M/DIA ®14 ©16 ©18 20
(_’.:“_\__ \’Q I % KX JE 1/Max Pressure 6T 45T S5 2T

®

3

3

& -

110mm
CNCH¥EFI2/CNC Boosting Cylinder Cover
HiE/DIA 45 ©40 D30 28 25 o022
[L-“p: 1l . .
L) ﬂlﬁ'/Product Specification ] i K JE ©1/Max Pressure x4 x6.25 X8 x12.7 x16 x21
# 1% (18 JE tk)specification (boosting ratio) 16 12.75 8.16 6.25 4.94 —
e - . : . zh 71 8 5T i B R MEB[EE P\ B K ELIs &
Zh{EF7 3\ action type SEL. iME ¥ Eh pneumatic and hydraulic, all double action g -
— — . Power Unit Block Brake Tyre Changer Cylinder Cover
T {E4r Fwork medium Z-BH TS EMNELS =S compressed air filtered by F.R.L. combination
S EI E operation pressure range 1.0MPa
I{EiRFET available temperature -5-60
% 042 port size PT3/8
0.6MPaT#&H N output force under 0.6Mpa 9.6MPa 7.65MPa 4.896MPa 3.75MPa 2.96MPa
E = (Kg) kilogram

— ~ . - a . = - =
rt’l‘ﬁ: 7/ Symble l [ ﬂ"}mm]/Model 1nstruct10n] in[iﬁ/Alumlnlum Die Castlng
DNZG 16- 50cc T i e &
madelﬁecuhca!inn b & f' e l' ':'_“;‘ 3 —e
uncla(:'\Tpig%l)mder ﬁﬂ%ﬂﬁ . i i ‘ . £ il r 1#
maodelpacification EREAS -. szms 3. 1 w .H
b ‘ME&U electrical T ! -
oosting cylinder : ity | L -
r """"""" _] B _connecnon mode“ ¥ )
LC E $J 4--_ x 16: f&i#16 A: AC220V
R =] 18:D0051ra§;§12 - B: DC24V
12.75: 158 i
g [] 12.75:boost ratio12.75 C: AC110V
3 8.15: f&148.15 E. AC24V
i 8.15:boost ratio8.15 .
;3 KiyT i3 6.25: f£186.25 F: DC12V
6.25:boost ralio6.25
4.94: f5i84.94
4.94:boost ratiod. 94

i i : cc

output flow : milliliter

50cec
60cc
80cc
110cc
160cc

51 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>> 52



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28

